Homework 7 (Spring 2017)
7.1.4. Is the comparison-counting algorithm stable?
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7.1.8. (Least distance sorting) There are 10 Egyptian stone statues standing in arow in an art gallery hall. A new curator wants to move them so that the statues are ordered by their height. How should this be done to minimize the total distance that the statues are moved? You may assume for simplicity that all the statues have different heights.
7.2.1. Apply Horspool’s algorithm to search for the pattern SORTING in the text
SORTING_ALGORITHM_CAN_USE_BRUTE_FORCE-METHOD
[bookmark: _GoBack]7.3.5. (Birthday parodox) The birthday paradox asks how many people should be in a room so that chances are better than even that two of them will have the same birthday (month and day). Find the quite unexpected answer to this problem. What implication for hashing does this result have?
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ALGORITHM  ComparisonCountingSort(A[0..n — 1])

/[Sorts an array by comparison counting
/MInput: An array A[0..n — 1] of orderable elements
/[Output: Array S[0..n — 1] of A’s elements sorted in nondecreasing order
fori < 0ton —1do Count[i] <0
fori < 0ton—2do
forj<—i+1ton—1do
if Afi] < A[j]
Count[j] < Count[j]+ 1

else Count[i] < Count[i]+ 1
fori < 0ton — 1do S[Count[i]] < A[i]
return §




